
SSG2



• PARTS LIST

• SCREW LIST

ITEMS LIST QTY

1

2

3

4

5

6

7

8

9

10

11

14

15

TOP PANEL

BOTTOM PANEL

LH BACK PANEL

FIXED PANEL

RH TOP

SIDE LH

LH ADJUSTABLE SHELF

RH ADJUSTABLE SHELFS

RH BACK PANEL

CV

350MM BMC

SIDE RH

SIDE RH1 PC

1 PC

1 PC

1 PC

1 PC

1 PC

4 PCS

2 PCS

1 PC

1 PC

1 PC

1 PC

1 PC

1 PC

1 PC

1 PC

HARDWARE

A

B

C

D

E

F

G

M8 X 16 SCREW

M5 X 13  SCREW

MINI FIX
A1 A2

M8 X 40 DOWELS

M6 X 32 SCREW

0 CRANK HINGES

FRONT SKIRTING

H SHELF PIN

28
SET

34 PCS

4 PCS

32 PCS

12 PCS

1 SET

I DOOR STOPPER

5 PCS

24 PCS

1 PCS

1 PC

16

SIDE LH

J

K

ALLEN BOLT 6 X 25 3 PCS

ALLEN KEY M4 1 PCS

P. 2

GUDSMITH

23

12

13 RH SHUTTER

LH SHUTTER

BACK SKIRTING

MODESTY17

LH DRAWER SIDES18

RH DRAWER SIDES19

21

20

22

DRAWER BACK

DRAWER BOTTOM

FACIA

1 PC

1 PC

1 PC

1 PC

1 PC

1 PC

L 4 PCSCONNECTOR

24 WOODEN KNOBS 3 PC



P. 3

GUDSMITH

9

3

7

12

13

2

6
11

15

23 17
16

14

8

5

4

101

18

22

21

19

20

7



A1 15 MM

6 X 40 MM

SCREWS

A2

X 2

X 4 

SCREWS
6 X 40 MM

X 2

A2

P. 4

A1 15 MM

6 X 40 MM

SCREWS

A2

X 2

X 4

3

4

4

1

2

3

GUDSMITH



SCREWS     X 4

A1 15 MM

X 4

SCREWS     
E 5 x 13 MM

A1 15 MM

X 4

A2

X 2

6 X 40 MM

SCREWS     

5

15

16

F1
F1

6 X 40 MMA2

X 4

14

X 6

P. 5

4

5

6

GUDSMITH



I

SCREWS
6 X 40 MMA2

X 6

D 8 x 16 MM

X 2

SCREWS     X 4

A1 15 MM

X 4

1

2

SCREWS     X 4

B 8 X 40 MM

2

11
23

X 10

P. 6

7

8

9

GUDSMITH



10

SCREWS     

A1 15 MM

X 4

SCREWS     

C 6 x 32 MM

X 4

SCREWS     

A2 6 X 40 MM

X 4

F2

F2

SCREWS     

X 6

E 5 x 13 MM

19

18

19

18

20

21

22

P. 7

10

12

14

11

13

GUDSMITH



3

4

6

2

11

23

14

16

15
17

P. 8

15

2

16

GUDSMITH



SCREWS     

X 4

L

X 43
4

6

2

14

16

15

17

5

P. 9

17

18

GUDSMITH

CONNECTOR



9

10

1

19

20

P. 10

GUDSMITH



X 24

7

8

P. 11

21

22

GUDSMITH

SCREWS     

X 24

H SHELF PIN



15

G D

D

D

12

13

P. 12

23

24

GUDSMITH

SCREWS     

D 8 x 16 MM

X 30



SCREWS     

K M4 ALLEN KEY

J 6 X 25 BOLT

X 3

24

X 3

P. 13

25

GUDSMITH



P. 14

GUDSMITH

Material check list

PART
12

PART
3

PART
4

PART
2

PART
14

PART
22

PART
5

PART
8

1
PART

1

1
PART

19

PART
17

PART
13

PART
20

1

1

1

1

1

2

1

1

1

1

1

PART
11

Hardware, Channels & Hinges

PART
7

2

PART
6

PART
16

PART
15

PART
23

1

1

1

1

1

LH SHUTTER

SIDE LH

CV

BOTTOM PANEL

RH TOP

FACIA

RH ADJ. SHELF

SIDE RH

TOP PANEL

RH DR. SIDE

MODESTY

RH SHUTTER

BACK SKIRTING

FRONT SKIRTING

DR. BACK

LH ADJ. SHELF

FIXED PANEL

SMALL SIDE RH

SMALL SIDE LH



P. 15

GUDSMITH

Material check list

PART
21

PART
9

PART
10

1

1

2

1

1

PART
7

PART
18

DR. BOTTOM

LH BACK PANEL

RH BACK PANEL

LH ADJ. SHELFS

LH DR. SIDE




